1. Unwind the PP belt with the scissors.

PP belt

2. Take out the wooden box panel,
it aside

remove the pearl cotton, and place

/— wooden box panel

\

N

—)

pearl cotton —\

\

<

2\

s
desktop J

3.Place the desktop on the removed pearl cotton place (avoid
collision and damage to the desktop).

desktop

\
\

N———

pearl cotton

4. Four people need to place the dining table above the dining

table base before installation.

N

2& base

N PovisonN

Table unpacking instructions

Number of people needed:4

(D Please read the manual carefully
before installing this product
And strictly follow the
installation process

(@ Please take good care of this
manual for your next
installation

Parts list

Serial

number Shape Name

Quantity

Total. 1 page; page 1



1. Remove the useless frame from the base (keep the sorews)

Hexagon Socket
Machine
Screws (M8*45mm) +Gasket

2. Place the correct frame from the base ( First, insert screws into the threaded holes of the frame and base
for preliminary alignment, then progressively tighten each screws sequentially to achieve uniform tension

distribution.)

Hexagon Socket
Machine
Screws (M8*45mm) +Gasket

" PovisoN
Installation instruction

DT-009 Installation

The number of people needed for installation: 2

O Please read the manual carefully
before installing this product. And
strictly follow the installation
process

@ Please take good care of this
manual for your next installation

Note: Before installation, screw
all the screws to 1/2 of the length
of the installation. After all
screws are half screwed in,
tighten them all together.

On a red ribbon are furniture

Parts list . . .
installation accessories
ial Quantity
:i;ttzr Shape Name required for| Spare
installation| quantity
Hexagon Socket
A Machine 4 0

Screws (M8*45mm)

Hexagon Socket

B Machine
Screws (M8*15mm) 4 2
C Gasket 8 2
Self-Drilling

D screw (M4*15mm) 0 14

E Mechanical
Adjustment Foot 0 2

F N Wrench 1 0

Total 2 page; page 1




3. Place the tabletop on the frame, Allen screws and spacers, and tighten the Allen screws with a wrench.

: Hexagon Socket
| Machine
| Screws (M8*15mm) +Gasket

Tips:

When the screws cannot align with the screw holes on
the tabletop, self-tapping screws can be used to secure
the tabletop through the small holes next to screw holes.

Self-tapping

screws(M4*5mm)

4. Installation Completed (If the product is unstable or wobbles, please adjust the adjustable feet at the bottom
of the product to ensure it is level with the ground.)

P> o
N PovisonN
Installation instruction
DT-009 Installation
The number of people needed for installation: 2
O Please read the manual carefully
before installing this product. And
strictly follow the installation
process
@ Please take good care of this
manual for your next installation
Note: Before installation, screw
all the screws to 1/2 of the length
of the installation. After all
screws are half screwed in,
tighten them all together.
. On a red ribbon are furniture
Parts list . . .
installation accessories
Serial Quantity
humber Shape Name required for Spa:r.e
installation| quantity
Hexagon Socket
A Machine 4 0
Screws (M8*45mm)
B Hexagon Socket
Machine
Screws (M8*15mm) 4 2
C Gasket 8 2
Y Self-Drilling
D screw (M4*15mm) 0 14
E Mechanical
Adjustment Foot 0 2
F N Wrench 1 0
G

Total 2 page; page 2



	餐桌拆箱说明书(英文)
	图纸和视图
	模型


	DT-009家具安装说明书1
	DT-009家具安装说明书2

